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QUESTION 1

Which two tables does the WebCenter Sitesnative user management system leverage? 

A. SystemUsers and SystemUserProfiles 

B. SystemUsers and SystemUserAttr 

C. SystemUserAttrs and Systemlnfo 

D. SystemUsers and SystemACL 

Correct Answer: D 

Reference: http://docs.oracle.com/cd/E29542_01/doc.1111/e29636/usersconfig.htm 

 

QUESTION 2

Your client wants to use Engage to render a dynamic recommendation on every page. The recommendation is to be
rendered using a pagelet template that will be called by the outer page template using the tag. The segment value of the
current visitor will be passed to it. The rest of the page template consists of calls to additional cached pagelets that
render the majority of the web page (for example, header, footer, navigation, and body). The total number of segments
is 20 and each visitor can belong to only one segment.

 Which template caching strategy is the best solution from an efficiency point of view? 

A. using an uncached wrapper that calculates the visitor\\'s segment, and then calls a cached page template by using
the tag and passing in c and cid as cache arguments. This template, in turn, calls a cached pagelet by using the tag,
specifying style="pagelet" and passing the visitor\\'s segment as cache criteria. 

B. using an uncached wrapper that calculates the visitor\\'ssegment, and then calls anuncached page template by using
thetag and passing incandcidas cache arguments. This template, in turn, calls a cached pagelet by using thetag,
specifying style = "pagelet" and passing the visitor\\'s segment as cache criteria. __ 

C. using an uncached wrapper that calculates the visitor\\'s segment, and then calls a cached page template by using
thetag and passing incandcidas cache arguments. This template, in turn, calls a cached pagelet by using thetag,
specifying style = "embedded" and passing the visitor\\'s segment as cache criteria. 

D. having no SiteEntry wrapper and using an uncached page template that calculates the visitor\\'s segment, which then
calls a cached pagelet by using thetag, specifying style="pagelet" and passing the visitor\\'s segment as cache criteria 

E. having no SiteEntry wrapper and using an uncached page template that calculates the visitor\\'s segment, which then
calls a cached pagelet by using thetag, specifying style="embeddedn and passing the visitor\\'s segment as cache
criteria 

F. having no SiteEntry wrapper and using a cached page template that calculates the visitors segment, which then calls
a cached pagelet by using thetag, specifying style="embedded" and passing the visitor\\'s segment as cache criteria 

Correct Answer: C 
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QUESTION 3

In what two ways wouldyou cause a flex filterbe executed on anexisting asset? 

A. by bulk approving the asset 

B. by editing or saving the asset one by one in the UI 

C. by simulating the edit or save operation on each asset programmatically (asset:load andasset:save) 

D. by republishing the asset 

Correct Answer: BC 

 

QUESTION 4

By default,SiteCapturecan be used to crawlan instance of WebCenter Sites.Identify two tasks thatSiteCapture
performs. 

A. It makes PDFs of the captured site. 

B. It archives a site in a zip file with metadata, HTML, JavaScript, and blobs. 

C. It saves only the pages that were changed to the SiteCapture file system. 

D. It crawls the site as different users. 

Correct Answer: AC 

 

QUESTION 5

What would you needto set to participatein aworkflow that providesan email notificationfor users? 

A. user account 

B. user profile 

C. be a part of the workflowuser role 

D. LDAP account 

Correct Answer: B 

Reference: https://docs.oracle.com/cd/E41948_01/fscm92pbh1/eng/fscm/fare/task_SettingUpWorkflow
NotificationforActionOwners-9f67e4.html 
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